R3 30 [Bras,
126, Fr=fafes 4 & 54 UF girEniEE vy %?ﬂp'ﬂjﬁ‘”ﬂzﬁ. Which of the following is not observed :h;r;q
< T R 2 o™ apoplastic pathway ?
i Wm%-ﬁtm'aﬁmﬁﬁim (1} Apoplastis continuous and does not proy,
N =8 = — any barrier to water movement.
) e X (2) Movement of water occurs throy
@ ;Tﬁiﬁiﬂ“ﬁmhl‘%m T mm}" !I{thtercEUulnr spaces and wall of the cells,
¥ L] -‘ td i i
(®) Y6 HE § TR e 3 T A . (3) i 1}3 ;ﬂﬁﬁ; oes not involve crossing
(4) T HEET #mmmw t b (4) The movement is aided by cytoplasy
127, e el 3 v ¥ et e ) oty @ streaming
(a) m_ﬁ_ _ L:T-E_H o st o ' 127, EE:.EHE:% following statements about the vascy
-Hmf?@mql : I" Wﬁﬂﬁﬂﬂﬂﬂjl— (a)  In roots, xylem and phloem in a vascy
(b) E‘gaqujmm Y Ty ¢ B bundle are arranged in an alternate map,
() T A g g, T, Sy iR i along the different radii.
3 1 Tufea A (b)  Conjoint closed vascular bundles do,
d = . y A possess cambium
(d) |_ RERE] ™ & Hagt wzel § gunfoaes (©  Inopenvascular bundles, cambium is prey
. ST e f e . © iﬁ. between xylem and phloem '
UFAET WE H, W v ¥ afiys wmem e vascular bundles of dicotyledon
qEFER £ o %msmzss endarch prutnxy]emty ouss:
- S F e : e n monocotyledonous root, usually there,
() 98 (1), (L) 3R o) Chioose the commeet xlem bundles present
@ ¥ (a), (b) 3 () below: answer from the options g;
J) ?b‘q'?l{b}, (<), () 37 (e) (1) (a).(c),(d)and (e) Only
)% (a), (b), () 3T (d) (2)  (a), (b)and (d) Only
gl D (o oy anc &) Only
e - ' »1C)an Dnly
®HUA] - 128. Given below are two statements -
c4mqmcoﬁmmm oy 3 Statement 1 ;
3T T TR e § 9 The primary CO, acceptor in C
e T Ir;l';g:P}?n[fncillsp}'ruvate rnd isnfm}nﬂ]aiihg
%ma{tmﬁﬁmﬁﬁmﬁﬁﬂuﬂhcu State&e};ﬂ ;f '
Rl 9, el | otthe above statements, ch
T g . Lk ?{mvers from the op!:icms given helu“::?se Qe
U TE T e— ey ) C;atement Lis incorrect but Statement |
(;) FE ] ARHTT 13 1w ¥ (2) B-urtrhegtmementland Statement II
(3) m]ﬁﬁmllﬁﬁmﬁl (3)  Both Statement I ang STmm:rﬁclT
@) FEITE Sma TR £ @ St
129. TR FEFATE, ) if:;;“;‘:t“‘ I is correct but Statement |
W‘I’Wﬁ'ﬂ'&;qﬁammﬁlb ga!Ementl; i
FaTII: Ef;—lztt?l%?\?lclm flowers are invariably autogam
HIHTT T TF HATFTH :
T T SEET T ooy W & oy - 1915::1{3311‘1}’ is disadvantageous as there i
AN ; - 10T Cross pollination
H?ITaﬂ A T & fam Pttt famedi 44 W innsﬂ::hgt{:tﬂftheabuvestaMmE. choose the co!
AT : ) er from the options given below :
() T §, T o 1y 5 1) Statement I is incorrect but Statement
() I ARHAT I3 i (2) E%rtrhegt tementIand Stat
_ - atement 1 and Statement [l arece
6 mlaﬁzﬁﬂﬁllmﬂmﬁ] (3)  Both Statement I and Statement 1!
\J\ /[.1}..--"81'2731 qel -E'-, GIEEE ¢ 1 e 14 incorrect
(4) Statement 1 is correct but Statement
incorrect
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R3
109. Read the following statements and choose the set of
correct statements:
(@)  Euchromatin s loosely packed chromatin

Heterochromatin is transcriptionally active

(b)
(0 Histone octomer is wrapped by negatively
charged DNA in nucleosome
(d)  Histones arerich in lysine and arginine
(¢) A typical nucleosome contains 400 bp of
DNA helix
Choose the correct answer from the options given
below :
(1) () (e)Only
2)  (b).(d).(e)Only
3) (@) (<) (d)Only
@)  (b).(e)Only
110. What amount of energy is released from glucose
f_gl_yrmg lactic acid ferentation? '
(1) Less than 7%
2 A pproximately 15%
(3) More than 18%
(4)  About10%
111. Hydrocolloid carrageen is obtained from:
(1) Phaeophyceae only
(2 Chlorophyceae and Phaeophyceae
(3) Phaeophyceae and Rhodophyceae
(4) Rhodophyceae only
112. Production of Cucu mber has increased manifold in
recent years. Application of which of the following
phytohormones has resulted in this increased yield
as the hormone is known to produce female flowers
in the plants :
(1)  Cytokinin
(2) ABA
(3) Gibberellin
(4)  Ethylene

¢@ Which of the following is incorrectly matched ?

(1) _"._f_’g{vox - Starch
(2)  Ectocarpus= Fucoxanthin

(@)  Ulothrix - Mannitol

(4)  Porphyra- Floridian Gtarch
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Given below are two statements : [i
Statement I : ' N
Mendel studied seven pairs of contrasting traits,

pea plants and proposed the Laws of Inheritang,
Statement I1:

Seven characters examined by Mendel in },

experiment on pea plants were seed shape ay

colour, flower colour, pod shape and colour, flow,

position and stem height ;
Inthelightof the above statements, choose the corre
answer from the options given below :

(1) Statement I is incorrect but Statement l]’
correct

(2)  Both Statement I and Statement I are Corre

(3) Both Statement I and Statement II
incorrect

(4)  Statement I is correct but Statement 11

incorrect

“Girdling Experiment” was performed by Pla

Physiologists to identify the plant tissue throu
which :

(1)  osmosisis observed
(2)  wateristransported
(3)  food is transported
)

for both water and food transportation

The appearance of recombination nodules ¢

homologous chromosomes during meio;

characterizes :

(1)  Terminalization

(2)  Synaptonemal complex

(3)  Bivalent

(4)  Sites at which crossing over occurs

XO type of sex determination can be found in:
(1) Monkeys

() Drosophila

(3)  Birds

@ Grasshoppers

Habitat loss and fragmenta tion, over exploitatic
?lien Species invasion and Co-extinction are caus
or:

(1) Natality

(2)  Population explosion

3) Competition

(4) Biodiversity loss

Exoskeleton of arthropods is composed of :

(1) Glucosamine

(2) Cutin

(3) Cellulose

4)  Chitin

Which one of the following plants shows vexill:

hous stamens ? '

(1) Solanum nigrum I
() Colchicunt autumnale

(3)  Pisum sativum

@) Allium cepa
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(3rgew ) (HTe)
(@)  Haematite ()  FeyO
() Magnetite (i)  ZnCO,
(€)  Calamine (iii)  Fey0,
(d)  Kaolinite (iv)  [Al(OH),Si,04)
A few T femen 6 e I
) (@)~ i). (b)- i), (c) - (i), (d)-(iv)
@ @)= (i), (v)- (i), () - i, (d)-(iv)

@) (@)- (i), (b) - (i), (c) - (ii), (d) - (iv)

@) (@)- (i), (b)- (i), (c) - (iv), (d) - (ii)

30,(g) = 204(g)

ST T st  fer, 208 K WK, 3.0x10-59
AT B &1 72 0, % w0 Az 0,040 M FL A M
" O, 1 Fizar gt

(1) 12x102

(2) 438x10-3

(3) 19x10-63

4) 24x10M

(2)
@)
()

1.3818
0.9212
0.4606

ﬁqﬁfﬁmﬁﬁmweﬁwmcm%:

OH

Cl

&'{Tﬁ?-z-ﬁﬁl+ﬁfﬂaﬁﬂﬁa+aﬁa
(4) l-mﬂfua-shﬁir%am.s_a‘fa
'iJﬁ,’He* AT F:ip TH AR T T
L2 3T 5 it s gy £

1) 1587 A

4 58.7 pm rbj)
15.87 pm
(4)  1.587 pm
39 VA Femf T
Ni(s)+2 Ag* (0.001 M) - N2+

.‘)

=105 8 pm @
o == 2y

)

ﬁﬁ’lﬁ'ﬁmxwﬁtﬁﬁgﬁ

(20.001 M) +2 Ag(s)
- L 3

(fem mn % . B _10.5\!,‘31?_:_51 = 0,059,
298 KW)

(1) 105V

(2 10385V

(3) 138V

(4) 09615V

87.

88.

89.

90.

91.

92.

- Teaction takes place at 298

HiMlﬁEnghgi]. Hindi i

Match List - I with List - I1.

List-1 List-1II
(Ores) (Composition)
(@) Haematite (i) FeyO4
(b)  Magnetite (i) ZnCO,
(0 Calamine (iii) FeyO, .
(d)  Kaolinite (iv) [Al(OH),;Si,0;)

Choose the correct answer from the options giver,
below :

(1) (@)- (i), (b)- (i), (c) - (i), (d) - (iv)
(@ @- (@), (b)- (i), (¢) - (iii), (d) - (iv)
() (a)-(iii), (b) - (i), (c) - (ii), (d) - (iv)
@) @)- (i), (b) - (i), (c) - (iv), (d) - (ii)

30,(g) = 205(g) |

for the above reaction at 298 K, K_ is found to be
3.0 %107, If the concentration of O, atequilibriup,
is 0.040 M then concentration of O,inM is

(1) 12x102

() 438x10-32
@) 19x10-63
#) 24x10M

|
For a first order reaction A — Products, initialg-\u
concentration of A is 0.1 M, which becomes 0.001 M

after 5 minutes, Rate constant for the reaction in

min~1 ig
(1)  0.2303
2 13818
(3) 09212
@) 04606
_necorrect IUPAC name of the following compoungd
is:

Cl OH

Br

(1) 6—bromo—4—methyl-2—chlorohexan—4-cl
@ 1 -bromo-5-chloro4-m ethylhexan-3-o]
(3) 6-bromo-2-chloro-4-my ethylhexan4-o|
@) 1-bromo—LmethyLS-chlorohexan-B—ol

If radius of second Bohr orbit of the He+

ion is 105§
pm, whatis the radius of third Bohr orbit lonis 105

(1) 1587 A OF L2+ ion!
(2) 1587 pm
() 1587 pm
4) 1587 pm

Find the emf of the cel]
K

Ni(s)+2 Ag* (0.001 My — N2+ (0.001M)+2 Ag(s)
(Given that E:'e]] =105V, EQ%E

=0.059 al
298 K)
(1) 105V
2 10385V
(3) 1385V
@) 09615V
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